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Annuity Problems - Answers
Basic Future Value

1.
Compute the future value of $8,880 invested every year if the appropriate rate is 11.6% and you invest the money for 18 years with the first payment made one year from now.


$ 475,412

2.
What is the future value of an annuity of $10,800 invested every year for the next 11 years starting one year from now at 9.6%?


$ 195,868

3.
Calculate the future value of an annuity of $408 invested every year at 9.9% for 2 years starting one year from now.


$ 856

4.
Compute the future value of $396 invested every year if the appropriate rate is 11.2% and you invest the money for 4 years with the first payment made one year from now.


$ 1,871

5.
Calculate the future value of an annuity of $10,440 invested every year at 10.9% for 19 years starting one year from now.


$ 588,090

Basic Present Value

6.
What is the present value of an annuity of $10,320 invested every year for the next 19 years starting one year from now at 8.2%?


$97,699

7.
Elanor Forsythe has just retired and plans to consume $8,640 from the retirement account every year for the next 16 years starting one year from today, meeting the rest of the expenses from other resources.  If the annual interest rate is 9.6%, how much does Elanor Forsythe have in the retirement account today?


$69,238

8.
What is the present value of an annuity of $408 invested every year for the next 2 years starting one year from now at 11.2%?


$697

9.
Compute the present value of $408 invested every year if the appropriate rate is 11.0% and you invest the money for 4 years with the first payment made one year from now.


$1,266

10.
If the discount rate is 11.2%, find the present value of $420 invested every year for 3 years with the first payment made one year from now.


$1,023

Payment – Advanced

11.
Cary Grant plans to retire in the Virgin Islands on a ranch worth $236,835.  The plan is to save up every year starting next year for 12 years.  If the interest rate is 8.0%, how much does Cary Grant have to save every year?

$12,480

Willard Crowe wishes to have $368,765 in a retirement account 15 years from now.  What payment would Willard Crowe have to make every year starting next year if the interest rate is 8.6%?

$12,960

Morgan Nichols has just bought a boat by taking an unconventional 19 year, $70,226 mortgage from the bank.  The interest rate is 11.7%.  The mortgage is to be paid off by payments made every year starting next year.  How much does Morgan Nichols have to pay every year to repay the mortgage?

$9,360

You have decided that upon retirement you will buy a mansion in Hawaii with cold cash after 15 years.  How much do you need to save every year starting next year to have $251,516 by then if the interest rate is 8.2%?

$9,120

Katy Johnson has just bought a boat by taking an unconventional 14 year, $94,217 mortgage from the bank.  The interest rate is 9.9%.  The mortgage is to be paid off by payments made every year starting next year.  How much does Katy Johnson have to pay every year to repay the mortgage?

$12,720

